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[bookmark: _GoBack]A force F acts to the right on a 5.32 kg block.  A 2.44 kg block is stacked on top of the 5.32 kg block and can slide on it with a coefficient of friction of 0.11 between the blocks. The table has a coefficient of friction of 0.19.

The acceleration of gravity is 9.8 m/s2.
The acceleration of gravity is 9.8 m/s2.
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Find the force F required to accelerate the 5.32 kg block at 2.8 m/s2.
Answer in units of N
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A force F acts to the right on a 5.32 kg block.
A 2.44 kg block is stacked on top of the 5.32 kg
block and can slide on it with a coefficient of
friction of 0.11 between the blocks. The table
has a coefficient of friction of 0.19.
The acceleration of gravity is 9.8 m/ s2.
The system is in equilibrium.
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Find the force F' required to accelerate the
5.32 kg block at 2.8 m/s?.
Answer in units of N

015 (part 1 of 2) 10.0 points
A(n) 95 kg block is pushed along the ceiling
with a constant applied force of 1800 N that
acts at an angle of 58° with the horizontal,
as in the figure. The block accelerates to the
right at 7.2 m/s2.

The acceleration of gravity is 9.8 m/s?.
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How much will the spring stretch?

acceleration of gravity is 9.8 m/: s2.
Answer in units of cm
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